

$$\left(85\frac{7}{30} - 83\frac{5}{18}\right) : \frac{2}{3} : 0,04 = \frac{220}{3}$$

$$1) 85\frac{7}{30} - 83\frac{5}{18} = 85\frac{21}{90} - 83\frac{25}{90} = 84\frac{11}{90} - 83\frac{25}{90} =$$

$$= 1\frac{86}{90} = 1\frac{43}{45}$$

$$2) 1\frac{43}{45} : \frac{2}{3} : 0,04 = \frac{88 \cdot 3 \cdot 100}{45 \cdot 2 \cdot 4} = \frac{11 \cdot 1 \cdot 100}{15 \cdot 1 \cdot 1} =$$

$$= \frac{11 \cdot 1 \cdot 20}{3 \cdot 1 \cdot 1} = \frac{220}{3}$$

$$36\frac{2}{3} \% = \frac{220}{3}$$

$$100 \% = x$$

$$x = \frac{220}{3} \cdot 100 : 36\frac{2}{3} =$$

$$= \frac{220 \cdot 100 \cdot 3}{3 \cdot 110} = \frac{2 \cdot 100 \cdot 1}{1 \cdot 1} =$$

$$= 200$$

Ответ: 200